Section Marks: 100

Sub-Section Number: 1
Sub-Section Id: 405036106
Question Shuffling Allowed : Yes

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

For the following Assertion and Reason,

the correct option is :

Assertion : For hydrogenation reactions,
the catalytic activity increases
from Group 5 to Group 11
metals with maximum activity
shown by Group 7 - 9 elements.
Reason : The reactants are most strongly
adsorbed on group 7 - 9
elements.
Options:
Both assertion and reason are true
and the reason is the correct

1 explanation for the assertion.

Both assertion and reason are true but
the reason is not the correct

2 explanation for the assertion.

The assertion is true, but the reason

3 is false.

4 Both assertion and reason are false.

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Consider the following plots of rate

1
constant versus ? for four different

reactions. Which of the following orders is

correct for the activation energies of these
reactions 7

log k 11\ a

— "'-.C
T G E — —'\:“— e

Options:
1' EI:"}ELI.}E{}E:I

2. Ed}EL}Ed}Eh

3 E>E,>Es>E,
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4' E‘b}Ea}Ed}E‘t:

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

= fafs sfufFEma & fau av-Ters =0
%%mﬁmmﬁmﬁmm.
= Afafwaen & gfegau Fee & fau
Tortefad 89 § 9 SA 9 HWA 87

log k % d \ﬂ

T 4 N

3y o —
Options:
1 EBy>E4>E>E,

2_ E'u} E{:}ELI}Eb

3. EL'}EH}Ed}E'h

#, FpthpPlgrE

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Options:

1' Eb}ELI.}E{}Ed

2' Ed}EL}EI’J}Eh

3 E>E,>Es>E,

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

For the following Assertion and Reason,

the correct option is :

Assertion : The pH of waler increases with

increase in temperature.
Reason: The dissociation of water into
H* and OH ™ is an exothermic
reacton.
Options:
Both assertion and reason are lrue,
and the reason is the correct
1. explanation for the assertion.
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Both assertion and reason are true,
but the reason is not the correct

% explanation for the assertion.

Assertion is not true, but reason is
3 true.

4 Both assertion and reason are false.

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

fafafEa 9= a9 T & fau &l fasey
€
FIT: WA H pH T9 F T2 T T 2|
FEUT: W w1 HTawm OH - H fageH
T S-S AT €

Options:

YA T HEW A TE €, 99T FRW
1. FoF % T =R 2

FYA T FRU SHI He §, T FRO
2 A F WEl = T 2

3. T T &, T F e ¢

A, A TN FR S e

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
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g s ey il Wiy sReL e ©.
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Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The radius of the second Bohr orbit, in
terms of the Bohr radius, a,, in Li2* is:

Options:
?_Elﬂ

1. 3
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Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Li2* ¥ fgd| an-+yF =1 =91, 9n &=,

aﬂ%ﬁmﬁ,%:
Option_s:
g
1. 3
aay
2. 3
2a)
3. 9
|
4. 9

Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

ollgz (sl a, -t digel M, Li2+ ofly Al
seil Esel 9.
Optio_ns:
23{}
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Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Arrange the following bonds according to
their average bond energies in descending,
order :
C-CLC-Br,C-F,C-1

Options:

1, €-A>C-Br>C-1>C-F

7 C-F>C-Cl>C-Br>C-1

3 C-I>C-Br>C-A>C-F

A C-Br>C-1>C-A>C-F

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Tafetad srEY =1 39 3ad =y S

% HTAN "H2d HH H HHASG B0 :
C-ClLC-Br,C-F,C-I
Options:

1. C=Q@>C-Bf>C-I>C-F

P C-F>C-Cl>C-Br>C-1
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3. C=1>C-Br>C-QA>C-F

4 C-Br>C-1>C-A>C-F

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Al2L el cfelA ol 232181 o8 GedAL Gzl
sWAL vlisdl
C-CLC-Br,C-F.C-1

Options:
1. C-A>C-Br>C-1>C-F

57 C-F>C-Cl1>C-Br>C-I
3 C-1>C-Br>C-Q>C-F

A C-Br>C-1>C-A>C-F

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which of the following compoundsis likely
to show both Frenkel and Schottky defects

in its crystalline form ?

Options:
1. 4n5

? el
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3. KBr

4 AgBr

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Ta=fataa 3T § 9 9 o7 e =g
T TrFol a9 Yz 21 2l 1 Yeieid Fa

&7
Options:

"| . /nS
2 CsCl
3_ KBr
4 AgBr

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

252151 3wl Al llsrAlAL 54U Ese 2
225l 21 eid A2l suld 67

Options:

1. ZnS

2 Gl
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4 AgBr

-

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The increasing order of the atomic radii of

the following elements is :
@ <€ (b O (¢ F
dy A (e} Br

Options:

1 @<®)<©<@d<e)

9 ()< <)< @)=

3 (<) <@ <=

4 @<©@<O)<@<E

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

g

(@ € (® O (9 F
(d Cl (e) Br

Options:

1 @<®)<@©<d<@

5 ®<©<@<@<(E
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3. (©<b)<(@)<(d)<(e)

4 @D<@<B)<@<(@)

Question Number : 32 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

Al e dedlHl el Bseal 2zdl su
S

@@ C ® O (g F

(d Cl (¢) Br

Options:

1 @<®)<©<@d<e)

9 ()< <d)<@<@

3. (<)< @<=

4 @<@<®)<@<@)

Question Number : 33 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

Among the reactions (a) - (d), the
reaction(s) that does/do not occur in the
blast furnace during the extraction of iron
is/are :

(a) Ca0+5i0, — CaSi0;

(b) 3Fe,0;+CO — 2Fe,0,+CO,

(c) FeO+5i0, — FeSi0O,

1

(d) FeO'— Fe+

O,
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Options:

1. @
9. (d)
3 (9and (d)

4 (@and (@)

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

AfFAT (a) - (d), H | AC9E H AFH F
e 3 SR T afed 2 At sfufway
(a) CaO+Si0, — CaSiO,

(b) 3Fe,0,+CO — 2Fe,0,+CO,

() FeO+Si0, — FeSiO;

(d) FeO — Fe+%02
Options:

1. @&

2 (d

3 (9) T (d)

4. (a7 (d)

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 gcouegeduniaé



el sl (a) - (d) WSl sl (24) 5 o
il [Hesrel efrad s o2l w5/l
A2l A/l

(a) CaO+Si0, — CaSiO,

(b) 3Fe,0,+C0O — 2Fe,0,+CO,

() FeO+Si0, — FeSiO,

1
(d) FeO'— Fe+ 50,

Options:

1. (@
2. (d)
3 (0 2 (d)

4. @) = (d)

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Hydrogen has three isotopes (A), (B) and
(C). If the number of neutron(s) in (A), (B)
and (C) respectively, are (x), (y) and (z), the
sum of (x), (y) and (z) is :

Options:

1.1
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Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

SIESTSH & i TEENE (A), (B) 941 (C) &1
AG (A), (B) T (C) & M1 i HEA FHAT:
(x), (y) 71 (2) 1 (2), (y) TN (2) FATE -

Options:

T &

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

ElElsreL 2L WH-AHSL (A), (B) 2 (O) ©.
(A), (B) =i (C) Hl =42t -l v 21454
(x), () 2 (2) €3 ol (x), () 24 (2) L 2l
¢

Options:

1*1
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Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A metal (A) on heating in nitrogen gas
gives compound B. B on treatment with
H,0 gives a colourless gas which when
passed through CuSO, solution gives a
dark blue-violet coloured solution. A and
B respectively, are :

Options:

1. Na and Na,N

2 Mg and Mg,N,

3 Mg and Mg(NO,),

4' Na and NaNO;

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T 4T (A) A52reH 79 H TRy T 9 AiE
B 3@ ¥ B, H,O ¥ W 3TN %% W UFH
TTEMA T F g fwe Cuso, # faema 4
WA T T U el Alel—=1 a1 =1 faem
SAEI A 991 B FHAW T :

Options:

-'|_ Na @41 NazN

2 Mg @& Mg3NE
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g3 Mg T Mg(NOy),

4_ Na 991 NaNO;

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

25 Ulg (A) A Al Ay M 2RY 59l
HllorAd B L 8. B Al well 2l w53
DA Wy, I O drd CuSO, -l gl
YR 576l 2UslL M3L-sdedl 21 glael 1A ©,
A»A B s B

Options:

1. Na = NagN

7 Mg 21 Mg,N,
3 Mg i Mg(NO,),

4. Na 2 NaNO,

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

White phosphorus on reaction with
concentrated NaOH solution in an inert
atmosphere of CO, gives phosphine and
compound (X). (X) on acidification with
HC1 gives compound (Y). The basicity of
compound (Y) is :

Options:
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Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Hihe WO 1% NaOH faers % 919 CO,
= U A T § afufEmn 2 TeRE
AT ATE (X) TAE | (X), HCL 3 T s7efiaha
2T 1T (Y) SA1 €1 AT (Y) T e

g

Options:
1. 1
2. 2
3. 3
4, 4

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

U3E 5153l Uig NaOH gier CO, -l
(b5 etz el MlEL 53l S5l 21 HlerA
(X) 49 &, (X) 4 HCl 2@ 2i{lZlsel sl
Helloel (Y) 4O . 2Hlloret (Y) Al AR5l
P collegedunia

Options:



Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The correct order of the calculated

spin-only magnetic moments of complexes
(A) to (D) is:

(A) Ni(CO)y

(B) [Ni(H,O)/ICl,

(©)  Nap[Ni(CN),]

(D) Pdd,(PPh,),

Options:

1. ©<D)<®)<(A)
7 (O=[D)<®)<(@A)
3 (&)= Q<@ = D)

4 (&= (©=[D)<(®)

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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HFal (A) - (D) F T=H-HH F=EHE A0
<Rl 'H@ %H % :

(A) Ni(CO),

(B) [Ni(H;0)6]Cl,

(C) Na,[Ni(CN),]

(D) Pdd, (PPhy),

Options:

1. (©<D)<B)<(4)
5 (O=D)<®)< (@)
3 (&)= Q<® = D)

4. (&)= (©=(D)<®)

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

dslell (A) - (D) Al aelel g5 2l 2feisly
2ASHELAL AL 5 O ¢

(A) Ni(CO),

(B)  [Ni(H;0)glCl,

(C) Na,[Ni(CN),]

(D) PdCly(PPhs),

Options:

1. (©<D)<B)<(A)

9 (O=[D)<B)<(@A)
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3. (A)= (O <®)= D)

4 (&)= (©=[D)<(®)

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Among (a) - (d), the complexes that can

display geometrical isomerism are :
(a) [Py{NH,),CI]*

(b)  [P{NH;)Cls]

(c) [PHNH,),CI{NO,)]

(d) [Pt(NH3}_1ClBr]2 :

Options:

1 (a)and (b)

2 (b)and (c)

3. (9 and (d)

4, (dand @)

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

(a) - (d) H |, HFa N =AEAE FHETFA

ey & Hehd %, <

(@) [PyNH,)Cl]*

(b)  [P{(NH3)Clg]

() [PHNH,),CI{NO,)]
(d)  [Pt(NH,),ClBr]>"
Options:
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1. (2T (b)
5 () ()
3. (0) T (d)

4. (@) ()

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

(a) - (d) Usl, islell o oliflds uHues gald
8 dil

(a) [Pt(NH,),Cl]"

(b)  [PHNH;)Cl5]

(¢) [P{NH,),CI(NO,)]

(d) [Pt(NH;),CIBr]?*

Options:

1. (@) 2 ()
7 (b) @ (9
3. (9 =@

4, @ =@

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 gcollegeduniag



Two monomers in maltose are :

Options:

1 a-D-glucose and a-D-Fructose

2 a-D-glucose and a-D-glucose
3 a-D-glucose and a-D-galactose

A a-D-glucose and p-D-glucose

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

o2 § 21 UFe 8
Options:

1. o-D-TIHM T o-D-FFH

=

2 a-D-TTHE T4 oa-D-TEHE

3. o-D-TE[HE Tl o-D-TeHE

4 a-D-TEFME 1 B-D-Thd

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Wiezlnrdl A WAz 9 ¢
Options:
1. o-D-%sbs 44 a-D-21s
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7 a-D-%sbs 2 a-D-¥sbs
3 u-D-:’ligl:hﬂ w a-D-21d52 18

4. «-D-%sbs @i B-D-xgss

-

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Kjeldahl's method cannot be used to
estimate nitrogen for which of the

following compounds ?

Options:
@)

[l
5 CHyCH,~C=N
3 CgHsNO,

A CeHHs NH,

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

fr=fafas aifi § 4 foms fou T &
ARoH o U ez fafy =1 399m == fa
MHFAE?

Options:

O
Il

1 NH;—C-NH,
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2 CH,CH,-C=N

3 CeHsNO,

4 CeH;NH,

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sfeols@ll Tl AdelorAl wRwAnL Al
izl suL HuleeAl 4zl A 25

Options:

Q
Il

1‘ NHE_C_NHE

9 CH,CH,-C=N

3 CHsNO,

4. CeHs NH,

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The major product in the following

reaction 1s :

O
U po®
~CH,4
Options:

gcollegeduniaé



N\ o

1 “CH,
OH OH
AL
2 ‘CH;
iy
.-"'/ \\a"‘-».
g HO CH,
OH
@
P
4 "CH,4

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

frefafas afafra 4 g2 = ©

O
bl

~CH;

Options:

Am.

“CH,
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#
I
/.z‘.
ik W
3 HO CH,
OH
&
4 "CH,

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

AliAl UGl ot Alusr & -

C-B
—_—

O
e

~CH,4

Options:

o)
¥ N -OH
1 CH;

*

OH OH
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- e
9 HO CH,
OH
+
1 T CH,

Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

An unsaturated hydrocarbon X absorbs
two hydrogen molecules on catalytic
hydrogenation, and also gives following
reaction :

03 | o _[Ag(NHa)pT"
Zn/H,0
B(3-oxo-hexanedicarboxylic acid)
Xwill be :

Options:
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Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

T T ARSI X SR B
T T BTSN o 21 U] 1 AFINIA FLAl
o frfatan sifafwan «t 2 2
O3 | 5 _ [As(NHs)s] i
Zn/H,0
B(3-oxo-hexanedicarboxylic acid)
X BF

Options:

-‘I e T
O
2.~
-l

Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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saildlls edglaiul vis Yugiel wdglsieid
X €18 lortrtl ol 2212l 2neL 52 8 i L2l
Ul oL 2l &

. O [Ag(NH3)»T"
A Zn/H,O A

gsarsrislolsdldls »iRs)

X 8l :
Options:

> B (3-2ilsl-

|

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Preparation of Bakelite proceeds via
reactions :
Options:

Electrophilic substitution and

1. dehydration
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Electrophilic addition and
2 dehydration

Nucleophilic addition and
3 dehydration

4 Condensation and elimination

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

HAhense 1 faraq fFafataa sAfatwaet 9
EFT ST B
Options:

1. SOIRITEE Wi ae Fster

o TSR AT A e

3. AfFEE ArTe a9 Ao

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

cseudedl oz 59 wlel s
Options:
1. 9aslA 240l Hrare 214 Re/vilswel
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7 9agld URPl qprld 24 Hervilszal
3 & 2Rell owla v [Aedszel

1. e 2 [Hrud

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Among the compounds A and B with

molecular formula CgH,30O5, A is having
higher boiling point the B. The possible
structures of A and B are:

Options:

A = IID""H\[HP/MDH
-
1O

B = HO s
S A
OH

A=HO H“"r"&j""ﬁ“oﬁ

T

.\J.-"'
HO

2 DC Hj
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A=1ﬁcomifﬂﬁfacna

>

OCH,4

OCHy,

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T A o B, Foeh e 93 CyH 0,
€ H U B T I A T FEUAE ATHS T

A 991 B ] S9ifag 9r=Am 2
Options:
A=HO \[ oH
HO
\[ \/ OH

1. OH
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3 OH

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

CoH 05 20134 G210l 2llsvell A 24 B
451, A 4 Gesadldg B sz3dl 94y ».
A A B AL U1 HURBL &

Options:
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A= HSE_"U o ,-'DCH?‘,

OCH,4
I e s
] on

|

HO
4.

Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The major product [B] in the following

sequence of reactions is :

CH;—C=CH=CH;CH; (i) ByHq

=)
CHICH) (ii) H,0,, OH

> [A]

dil. H,50,

B
r [B]
Options:
CH3—CH—CH=CH—CHj,
I

CH, = C — CH,CH,CHj
|
5 CH(CHj),

CH;—C=CH—CH,CH,
|
3 CH(CHa3),

CH;—C—CH,CH,CHy
I
C

VL o
4 HC CH
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
=Tt AfvfFa-=1FA § 927 39 [B]
g

{.1H1—F=CH—{1H2CH3 (l} BZHE

CH(CHy) g* Al
32 (ii) H,0,, OH
H-,S0O
o Hp50, \ [B]
Options:
CH3—CH—CH=CH—CHj
|

CH, = C— CH,CH,CHj
I
5 CH(CHs),

CH;—C=CH —CH,CH;
I
3 CH(CH3),

CH;— C—CH,CH,CHjy
I

Question Number : 45 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
ANl Uil Belll Al 3o Aluse [B]
Ul
CH;—~C=CH~CH,CH; (i) ByHe
Cl I(CI 13]2

— [A]
(ii) H,0,, OH

Options:
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CH, = C — CH,CH,CHj
|
9. CH(CHj),

CH;—C=CH—CH,CH,
|
3 CH(CH3),

CH;—C—CH,CH,CH,
I
C

Y e
4 HiC" CHg

Sub-Section Number: 2
Sub-Section 1d: 405036107
Question Shuffling Allowed : Yes

Question Number : 46 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

NaClO, is used, even in spacecrafts, to
produce O,. The daily consumption of pure
!‘Clizbj,F a person is 492 L at 1 atm, 300 K. How
much amount of NaClO,, in grams, is
required to produce O, for the daily
consumption of a person at 1 atm, 300 K?

NaClO,(s) +Fe(s) — O,(g) + NaCl(s) + FeO(s)
R=0.082Latmmol 'K

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers::

2120to 2140
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Question Number : 46 Question Type: SA
Correct Marks: 4 Wrong Marks: O
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NaClO,(s) +Fe(s) — O,(g) + NaCl(s) + FeO(s)
R=0.082 Latm mol "' K~

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2120to 2140

Question Number : 46 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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NaClO;(s) + Fe(s) — O,(g) + NaCl(s) + FeO(s)
R=0.082 L atm mol "1 K1

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2120to 2140

Question Number : 47 Question Type: SA
Correct Marks: 4 WrongMarks: 0

At constant volume, 4 mol of an ideal gas
when heated from 300 K to 500 K changes
its internal energy by 5000 ]. The molar heat

capacity at constant volume is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers::

6.2510 6.25

Question Number : 47 Question Type: SA
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Correct Marks: 4 WrongMarks: 0
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

6.2510 6.25

Question Number : 47 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

6.25106.25

Question Number : 48 Question Type: SA
Correct Marks: 4 WrongMarks: 0

For an electrochemical cell

Sn(s)[Sn? * (ag, IM)||Pb** (aq, IM)|Pb(s)

) Sn2* : .
the ratio 57, When this cell attains
Pb

equilibrium is

¥

i & '{} — AN
{{_11\. en: L5"2+|5n 0.14V,
0 - ; IZ.SMRT W
LP[-F'*| 0.13V, = D.{]ﬁ}

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2.13t02.17

Question Number : 48 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2.13t02.17

Question Number : 48 Question Type: SA
Correct Marks: 4 Wrong Marks: O
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers::

2.13t02.17

Question Number : 49 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Complexes (ML;) of metals Niand Fe have
ideal square pyramidal and trigonal
bipyramidal geometries, respectively. The
sum of the 90°,120° and 180° L-M-L angles

in the two complexes is

Response Type: Numeric
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Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

20t0 20

Question Number : 49 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

20t0 20

Question Number : 49 Question Type: SA
Correct Marks: 4 Wrong Marks: 0
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

20to0 20

Question Number : 50 Question Type: SA
Correct Marks: 4 Wrong Marks: O

In the following sequence of reactions the

maximum number of atoms present in

L e S = N,

molecule “C’" in one plane is

Redhot .,  CHsCl(l.eq)
Cutube =  Anhydrous AlCI,

A >C

(A is a lowest molecular weight alkyne)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

13to 13

Question Number : 50 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

13t0 13

Question Number : 50 Question Type: SA
Correct Marks: 4 Wrong Marks: O
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

13t0 13
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Question Number : 51 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
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